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=S 108,600




SN SYEH
B =oiAme Ys)
el EEseY =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 253,400
s 25 HUE st us K& 6,400 8,000 1,600
== 1,920
[Ea 4,480
307 212+01& 6,400 8,000 21,600
< 1,920
s 4,480
02 2IZHBHAIHE £ 6,400 8,000 /1,600
ORJl=s s =HHE ?Ist XA 6,400
= 1,920
o 4,480
Zletd LY0ISW NFHA 88,290 84,000 4,290
=S 12,987
s 75,303
307 21201 & 88,290 84,000 4,290
< 12,987
[Ea 75,303
02 2B HAHE L 88,290 84,000 4,290
Ozlgd 240l s XI& 43,290
== 12,987
= 30,303
Olgd 240l S XA (ZHIFIH) 45,000
SHSZEMIZ 0™ Al 300,000 300,000 0
= 150,000
= 45,000
[Ea 105,000
207 ARl 90,000 90,000 0
= 45,000
= 13,500
= 31,500
01 H1E4H] 90,000 90,000 0
OsdedEdIZ2 08 At 90,000
= 45,000
[ 13,500
Ea 31,500
301 LEtE NS 210,000 210,000 0
= 105,000
[ 31,500
Ea 73,500
14 JIEt2 8= 210,000 210,000 0
Osgatd2d oz 08 A 210,000
= 105,000
s 31,500




SN SYEH
B =oiAme Ys)
el dEdsg |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 73,500
Zletd & Xt XA 85,200 164,400 AT9,200
201 et 3| 6,000 6,000 0
01 At22t2l] 6,000 6,000 0
OHBY ¥ AHAY EFSE X2
600,000 * 107K 6,000
301 LEtE NS 79,200 168,400 279,200
14 IIEt2d3 79,200 158,400 AT9,200
OB ¥ AHIHHES I8 KUX 2
1, 1002 *60IH*200kg*6= 79,200
detdsy ME AL X3 8,000 6,000 2,000
307 @I2t0| & 8,000 6,000 2,000
04 QIZHHAMAIH 2 £ 8,000 6,000 2,000
OzlE=g MEHAKA
4,000,000& 22 8,000
FIs(Rs9f) NSEL SN XE A 70,000 70,000 0
307 glztol & 70,000 70,000
02 2IZHB A E & 70,000 70,000
ORIIs(R=) N3 SN A
Are 1,000,000 *100ha*70% 70,000
=X HE 232,000 244,000 A12,000
SEIZRS 2l 232,000 244,000 212,000
sEIIES 21 € ®7X2el 232,000 244,000 A12,000
202 04| 2,000 2,000 0
01 SLHoIH 2,000 2,000 0
sZl2s gexd 2,000
401 AlEHIZ 2018 230,000 242,000 212,000
01 Al&H| 230,000 242,000 212,000
SEIES AREXRl
700,0002 200K 2= 140,000
Os&tzs 288
100,000 *1007H 2 10,000
SEIDZS LD WA
800,000 100K 2~ 80,000
STNLAS 26,001,502 27,779,907 1,688,405
= 4,425,461
= 7,301,000
< 6,247,300
s 8,117,741
sSTdEEE e 150,000 250,000 100,000
SEMEET FHI(HEAY) 100,000 200,000 100,000
401 Al HIZL 01| 100,000 200,000 100,000
01 Al&HI 100,000 200,000 100,000
Oszdged Sl 100,000




SN SYEH
3 SENL A
ol sEdEEE il (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sEdEE =Al2k 50,000 50,000
401 Al HIZL 201 50,000 50,000
01 Al&HI 50,000 50,000
Odgetdetd gt A2+ 50,000
SYIIAIE =4 9,014,985 9,640,209 625,224
= 1,165,461
= 4,493,500
s 3,356,024
+clAl2 dHl 1,255,969 1,479,969 A224,000
201 Ler=23 | 56,000 54,000 2,000
01 At2teltl 6,000 4,000 2,000
OfIg=clAlg BN ZX
750,000 *8IH A 6,000
02 s3=gHl 50,000 50,000 0
O==clAlE FXI&cldl 50,000
202 04| 1,969 1,969
01 SLHoIH 1,969 1,969
FclAld RX2el gRFH 1,969
401 Al HIZ 2018 705,000 690,000 15,000
01 Al&H| 705,000 690,000 15,000
OAte] S A0IEFHUZHBIS A 50,000
OHE 2+=Sti=2FHIS At 36,000
OF9 t=sLE+=ZHHISA 70,000
OFot 21BN E X2 E =2 HHIS Al 40,000
OFd AUSH =S AIZNSS A 80,000
OZd AANBNEHX A EH =2 HHISAH 50,000
O28 =d1cIs80ISANEEA 80,000
O==clAE |2+ 300,000
403 AXIEHHISAH=0lH 493,000 734,000 241,000
02 SISt 2 S A AIEEI 493,000 734,000 A\241,000
Oa== OtE2Bi =2 IS A} 43,000
O=2% dJLSSALGNAEH =2 ZHIAIE 450,000
sSEIIPAE FX2tel 510,640 453,440 57,200
201 fer=3| 35,640 33,440 2,200
01 AtR2t2|H] 25,280 23,080 2,200
O==d MIINHHES
120,000 *20H* 123 2,880
O==Mit 285 =8
500,000 *302] 15,000
OA=d 083 ==&
80,0002 %102 800
OsgE2d +ZBA =8
110,000 ~60CH 6,600




SN SYEH
B &AL
Celr sHIIEAE =4 EER=E)
SA - Z - B2A(S1H) - HRAES of v e HIDE2
02 S5=g4l 10,360 10,360 0
OstolitH=y ef+J| JHl 10,000
OM&CHEHLHAS)| S22
30,0002 x 12 360
401 AIEHIZ SR THYI 147,000 390,000 243,000
01 Al 147,000 390,000 243,000
OARX Hg |x22l
47,000,000& %12 47,000
OXlot=e AL & A= 22| EH 100,000
403 AXIEHMSAH=0ld 328,000 30,000 298,000
02 SISOt =2 A P E A I 328,000 30,000 298,000
OAFX HEEH 178,000
O2A M+=AgEAHNHEH 80,000
Oz QEINEeINFEHZS LTI 70,000
SHIIBAE 2= 448,000 312,800 135,200
401 AlZHIZL RO 248,000 312,800 264,800
01 Al&H| 248,000 312,800 64,800
O=clAlE |RXI2 50,000
=08 By 24
1,000,000 *1009H 2~ 100,000
Og+d 2= 4,800,000 *100H 2~ 48,000
O3 &l & &I|8t |2+ 50,000
403 AXIEHHSAH=0lH 200,000 200,000
02 SIS0t =& 2 EF A I 200,000 200,000
FClIANEE B & =4 200,000
oK 7 & Z Rl (HEAY) 2,500,000 4,500,000 22,000,000
=S 2,250,000
s 250,000
403 AXIEHHSAH=201H 2,500,000 4,500,000 A2,000,000
S 2,250,000
[Ea 250,000
02 SI12S0ItH et =& 2 €A I 2,500,000 4,500,000 A2,000,000
OFX7 &SR Fel(He) 2,500,000
= 2,250,000
= 250,000
ISl sEEJ18tA4 | 217,000 247,000 /30,000
= 65,000
o 162,000
401 Al HIZ S 0HbI 217,000 247,000 30,000
s 65,000
s 152,000
01 AlZ8| 217,000 247,000 230,000




SN SYEH
B &AL
Celr sHIIEAE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFHAREX T JtsUHISSESIIBAIE
BIA 90,000
= 27,000
Ea 63,000
OBATAXF JIslitlsEES+II8tAI 4
HIA 90,000
< 27,000
[Ea 63,000
OYBAETIT IS SL S4Bl
BIA 37,000
= 11,000
Ea 26,000
ISt S0 470,000 670,000 200,000
401 Al HIZ R 0HHI 470,000 670,000 200,000
01 AlZ8| 470,000 670,000 A.200,000
OJtsUs 2Eone 370,000
SHE 2F0IE AIESA 100,000
MEETAIE JHEAIE (EX) 50,000 0 50,000
= 50,000
403 AXIEHHSAH=201H 50,000 0 50,000
[ 50,000
02 SISOt =2 A P E A I 50,000 0 50,000
OAtel ZEbi=2 ZH|SA 50,000
=S 50,000
7.9.~19. SRIUITH SFAIL(=2IAE)(EX) 1,198,376 0 1,198,376
= 1,165,461
Ea 32,915
401 AIZHIX S0HH 223,180 0 223,180
= 190,265
s 32,915
01 AlZ8| 223,180 0 223,180
Oz2 QEAXZLIXT MHERSA 86,371
= 86,371
OFZd HI=+& Mall=SESA 50,629
= 50,629
OFZd HE2FUE Ml STSA 53,265
= 53,265
OZd HHE2FYE Mal=s7SAHZEl =I1) 32,915
403 AXIEHMSAH=0ld 975,1% 0 975,19%
= 975,196
02 SIS0t =S A A 975,1% 0 975,1%
OAS QHUALT WH=TBAH(ZBRIAS
) 78,298
= 78,298




SN SYEH
B &AL
Celr sHIIEAE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OL&LT (B =sHESA MH=TA 84,000
= 84,000
Oe+H(I=2s0HESA) Mal=S7AE 58,786
= 58,786
O+ (B2sHESA) MHHS2AIE 137,573
= 137,573
Odl22=+H(SI=2S0HESA) MalST7AY 66,500
= 66,500
Odt2x-1 2+XE(S=2s0HESA) Molis
TAFS 128,456
= 128,456
Odt2-2 HH=XIH (SI=250ESA) WS+
Ar 104,576
= 104,576
OSELT(B=sHESA MH=TA 154,000
= 154,000
Odt2%t 82 (BH=s0HESAH M=
TAHS 101,345
= 101,345
OMEBNEI X2 (er=sHESAL) M=
A 61,662
= 61,662
A2l Al IHE AL 2,365,000 2,365,000
[ 2,128,500
T 236,500
401 Al HIZL 201 245,000 245,000
= 220,500
= 24,500
01 Al&H| 245,000 245,000
OXM==Al =2AH= SEALE =AY 245,000
= 220,500
Ea 24,500
403 AXIEHHSAH=201H 2,120,000 2,120,000
== 1,908,000
o 212,000
02 S 2SS0t et =& 2 €A | 2,120,000 2,120,000
OF=ASXIF A2l AIZHES=ALS 420,000
< 378,000
s 42,000
OFDNEZXT AlZclAIEHE A 390,000
= 361,000
Ea 39,000
OAtel&el X7 A2 =l AIEIHE = AL 300,000
== 270,000
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2A:

=
B SENLA
el sEEFNA A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSetEJI(HEALY) 100,000 847,000 AT747,000
401 Al HIZL 201 100,000 847,000 AT47,000
01 Al&HI 100,000 847,000 AT47,000
OxtE DISSII(HE,2021) 100,000
I ZMENTSLHAL(FHE HH) 950,000 709,000 241,000
401 AIEHIX R0 950,000 687,400 262,600
01 A28l 950,000 687,400 262,600
OJIZMENESLHAG(HE SH) 950,000
sENSSZAAA (KHAI) 53,097 106, 194 A53,097
101 e124d| 53,097 106, 194 A53,097
M ORNZZ2NSE S 53,097 106, 194 A53,097
OsETAEHSAAAY FAH 23H| 53,007
AME=E 3,000,000 62 18,000
-ARE 2,300,000 6 & »2H 27,600
“UEEE 45,600,000 *16.44% 7,497
SHEF AN AMSHANEMNS (S ASES) 543,000 542,000 1,000
= 416,000
= 38,100
o 88,900
401 Al HIZ S OHbI 543,000 542,000 1,000
[ 416,000
= 38,100
o 88,900
01 Al&H| 543,000 542,000 1,000
O=2%8 2SS FIANSHEH2HIHNZAL 543,000
[ 416,000
== 38,100
= 88,900
SHEF AT AMEHANEAML (EHH SHIR) 597,000 595,000 2,000
[ 445,000
== 45,600
= 106,400
403 MR SHHMSAH=01H 597,000 595,000 2,000
= 445,000
< 45,600
[Ea 106,400
02 SI12S0ItH et =& 2 €A I 597,000 595,000 2,000
OFF =t FHAXSMEHHINZAY 597,000
s 445,000
s 45,600
s 106,400
SENE=EAS 3,185,000 0 3,185,000




SN SYEH
3 SENL A
el sEFF0A O (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,450,000
=S 735,000
403 X SHHMSAH=01H 3,185,000 0 3,185,000
= 2,450,000
== 735,000
02 SIS0t =2 2 P E A I 3,185,000 0 3,185,000
OUE MEX T sESAHIHIAY 3,185,000
= 2,450,000
& 735,000
SEEA(sESHXZLEAY) 4,275,000 3,505,000 770,000
[ 4,155,000
[Ea 120,000
307 212+01& 400,000 0 400,000
= 280,000
= 120,000
05 2IMRIE S 400,000 0 400,000
OZ2dYH SESHA St 400,000
= 280,000
[Ea 120,000
403 AXIEHMSA=Z0l1d 3,875,000 3,505,000 370,000
[ 3,875,000
02 SI12S0IT et =& P EF A I 3,875,000 3,505,000 370,000
OZEdH sESHNEEIAE 3,875,000
= 3,875,000
SEEAOIZYUENESEAY) 683,000 1,711,000 A1,028,000
s 478,000
= 205,000
403 AXIEHMSAH=0ld 683,000 1,711,000 A1,028,000
= 478,000
Ea 205,000
02 SISOt =2 A P E A I 683,000 1,711,000 A1,028,000
O%E JIZHEHEZGAY 683,000
[ 478,000
s 205,000
SHEFHAXGMSHANEAIS (HEH =ZX2) 616,000 597,000 19,000
= 468,000
= 44,400
o 103,600
403 AXIEHHSAH=201H 616,000 597,000 19,000
[ 468,000
= 44,400
Ea 103,600
02 SISOt =2 A P E A I 616,000 597,000 19,000




SN SYEH
Hr: =EL ALY
el sEEFNA A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHSH =l FHAXN AU AMN ALY 616,000
= 468,000
== 44,400
[Ea 103,600
SHEF AT AMEHAMNEAL (HZH H4e)) 573,000 565,000 18,000
= 441,000
== 39,600
[Ea 92,400
403 AXIEHHSAH=201H 573,000 565,000 18,000
= 441,000
= 39,600
o 92,400
02 SVI2S0 U H=E P EAIEI 573,000 565,000 18,000
OHEH H4e| HAXNAUEHN ALY 573,000
[ 441,000
= 39,600
Ea 92,400
SHEHAXNAMSAHINEAIG (A= BH) 631,000 0 631,000
[ 457,000
= 52,200
Ea 121,800
401 AIZHIX S0HH 631,000 0 631,000
[ 457,000
= 52,200
= 121,800
01 Al&H| 631,000 0 631,000
Ods QS X = MEOI T A 631,000
= 457,000
< 52,200
= 121,800
SESUEHIAIZ (At2IXIT) 1,063,000 0 1,063,000
= 810,000
< 243,000
401 AIZHIX S0HH 1,053,000 0 1,063,000
= 810,000
= 243,000
01 A28l 1,053,000 0 1,053,000
OAelXI 7 sES2UHEHIAE 1,053,000
= 810,000
= 243,000
SHEF AT AMEHAMEANL (HEH 232l) 204,000 0 204,000
= 150,000
== 16,200




SN SYEH
Hr: =EL ALY
el sEEFNA A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 37,800
401 AIEHIX 20 204,000 0 204,000
[ 150,000
= 16,200
= 37,800
01 Al&H| 204,000 0 204,000
OdE Sl FAAXNFUSHANZAIS 204,000
= 150,000
& 16,200
= 37,800
SHEF AT AMEHAMEAL (A2l =Eel) 206,000 0 206,000
= 157,000
< 14,700
s 34,300
401 Al HIZL 01| 206,000 0 206,000
= 157,000
== 14,700
[Ea 34,300
01 Al&H| 206,000 0 206,000
OAlel £2 FHAXAHEHANEAIS 206,000
= 157,000
=S 14,700
s 34,300
2=l 330 e 2,687,564 0 2,687,564
< 525,000
s 2,162,564
HEJIE B3l FEIY (DELTA)(EX) 1,400,000 0 1,400,000
401 Al HIZL 048I 1,400,000 0 1,400,000
01 Al&HI 1,400,000 0 1,400,000
O#=2E BNl FAXH(FHLEAY
) 1,400,000
S8 AsHE 2l ZEAY 1,100,000 0 1,100,000
s 525,000
s 575,000
401 AIEHIZ SR OHYI 1,100,000 0 1,100,000
[ 525,000
Ea 575,000
01 Al&HI 1,100,000 0 1,100,000
O&=g AsFHE EshelZgAd 1,100,000
= 525,000
= 575,000
23el 01 e |A2 187,564 0 187,564
201 eer23y| 14,000 0 14,000




SN SYEH
3 SENL A
el 2=Aiel E30iA il (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,000 0 2,000
OE=itel 802 e FXl2cl 2,000
02 S3=gl 12,000 0 12,000
Od= € ANEEHIRX 12,000
202 04| 3,564 3,564
01 2K 3,564 3,564
OEsktelZdAg gf=F8 3,564
401 Al HIZL S 0HYI 150,000 150,000
01 Al&HI 150,000 150,000
OE=itel 80 e FAE> 180,000
405 AHaHE = 20,000 20,000
01 MMM ESFSHI 20,000 20,000
OF=itel 802 e FXl2cl 20,000
sAE28 2t 272,120 411,220 139,100
Jl 115,388
s 156,732
SXIMaD[EtR = 272,120 411,220 139,100
Jl 115,388
= 156,732
skols2el X2 164,840 209,860 N45,020
) 115,388
o 49,452
101 @1A4H| 156,598 188,874 N32,276
Il 109,618
s 46,980
04 JIZtN2Z2XNS 2+ 156,598 188,874 N32,276
OsX0ISA AL QIR 156,598
7l 109,618
Ea 46,980
201 er23 | 8,242 20,986 A12,744
J| 5,770
o 2,412
01 AtR2telHl 8,242 20,986 A12,744
OsSXI0ISAEHEAL 2EH| 8,242
Jl 5,770
o 2,472
sk?ds 23X 107,280 201,360 294,080
201 =3 107,280 201,360 A94,080
01 At22t2lH] 107,280 201,360 294,080
OsXAEs ?& =&
70,0002 x112& x 122 94,080
OsA?da 24|
50,0003 *11JH A +243] 13,200
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